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s ziobb1ah  (hml) ~wil i?whml (hml) i%ii

2501 8,237 100 6,447 100

2502 8,988 109.4 7,560 117.4

2503 9,622 116.4 8,614 133.8

2504 10,287 123.7 9,997 155.2

2505 11,504 138.1 9,529 147.9

2506 12,803 . 154.1 9,676 150.1

2507 14,253 172.2 12,339 191.4

2508 15,433 186.2 12,941 200.8

2509 18,504 223.7 14,099 218.7

2510 22,188 268.3 14,166 219.8

2511 24,103 291.2 13,679 212.3

2512 26,185 317.8 14,797 229.5
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P2500 50

150012500 = _ _  = - z1.00
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nl%.Jlsra

2500

PO

2501 2502

pn PII

waJ¶Td pIa46 .50 Inn .75 ¶JlW 1.00 ¶JlYl

l4.l i%n 1.00 lml 1.25 IJlYl 1.50 ¶Jlp1

%i hn 5.00 ‘ml? 6.00 l.llYl 6.50 IJIM

L&l i%an~ad 8.00 ¶JlFl 10.00 ¶JlW 12.00 ¶JlM

14.50 IJV 18.00 ¶JlW 21.00 mn
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18.00 .75 + 1.25 + 6.00 + 10.50_ _  =
14.50 30 + 1.00 + 5.00 + 8.00

t  p,.

P
,=I 18.00

2500/25OL  = __  zz ___  z 1.24

t P..
14.50

,=I

P O/U = P1500,2500 = 2 = ~ 14.50 = 1.00 es50 100
01 14.50

P 1,181 P*500/2101 ~ P.,1 18.00= = =  - = 1.24 MiO 124
t P., 14.50

1P “,>I P”‘=  P2500/1501 =  __
21.00z-= 1.45 e940 145

t Pox 14.50
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P 2500/1501 18.00 + 125= = ~ 143 = 1.25
14.50 + 100 114.50

P./P. P./P.  (2501) P./P.  (2502)

100%

100%

100%

100%

100%

.75/.50  = 150% 1.00/.50  = 200%

1.25/1.00  = 125% 1.50/1.00  = 150%

6.00/5.00 = 120% 6.50/5.00 = 130%

125.00/100.00  = 125% 150.00/100.00 = 150%

10.00/8.00 = 125% 20.00/8.00 = 150%

-+E+ .75 ____-  6.00 + 10.00 + 125.00

P 1500/2501 .50 1.00 5.00 8.00 100.00= = 645 =
5

129
5
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. ..(10.4.2)

P 25011,150, E(g) 100 645
= k = 129

5

qy 100 780
P~s"*/zIo~  = ___  - _k

= 156
5 \
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( Pll--)w, + ( PI1-)wz + ( PI3
PO2

--)w3  +
PO3

(
PI4 PI5-)w, + (---)ws

PO1 PO4 PM= w, + w2 f ws  f wz + ws

300 + 625 + 480 + 1000 + 125
= 200 + 500 + 400 + 800 + 100

2530

=2ooo== 1.265 94% 126.5%

P
i: (+  w ,i=l

o/n =
i: w,

. . . . . . . . . (10.4.3)

>=I

P 25302500,*501  = =-
z wi 2000
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2500

9.

2500

P. w = P.9.

2502

P. P./P. (P./P&J

&@llA 20 nn. 4 IJIM 80 ¶JlYl 6 ¶Jl'yI 6/4 120 IJI'YI

aa¶hd 40 nn. 6 240 8 8/6 320

UaJ 40 &lT 8 320 IO IO/8 400

640 E1lYl 640 ¶Jl'yI

sl
87nhpmhG asi&wamE

840zz -= 1.312 ?&I 131.2%
640

=
( 2, ) (PoI.qd  + ( + ) (p01.q02)  + . . . . + ( + ) (po5.qos)

po,.qo,  +02p”~.q0*  + . . . . . . + poGq0~

05

= Pll.qol + PIAl + . . . . . + p,d.qOS
POI.clO,  + pw.qcJ2  + . . . . . . + p05.q05
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P 2 P”qcJ,,,n = . . . . . . .
1 D”cL

P XPn“l”  = __ . .
aL

(10.5.2)

640 III'YI 840 ¶Jll'l

P EPA"  _ 840
"l"  = = 1.312 I&i  131.2%

&q, 640
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2500 2502

qo 9.

20 n.n. 30 n.n.

40 n.n. 50 n.n.

40 Em 80 'j,,

PO P. Po4. Pa"

4 LllYl 6 ¶JlVl 120 ¶JTi 180 LIlYI

6 UIW 8 YlYl 300 UlYl 400 u-l91

8 lJ1v-l 10 UI'YI 640 ¶Jl'Yl 800 ¶JlW

1060 ¶Jl?l 1380 UlYl

P IP”% _ 1380
2500/2502  = - = 1.302 H%  130.2%

~P4. 1060
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XP”
90+91-tq2

P
3

0,” =
tp,  qo+qt+qz

3

. . . . . . . . . . (10.6.1)

. . .._.....  (10.6.2)

&WPjl9 1 0 . 6 . 1 L-d+‘h$dU@l~~?~~

2 5 0 0 2502 9’

k.Gl q. 91 (40  + q J/2 PO P. Pdl’ P.9’

&ma 2 0 30 25 4 ¶JlW 6 ¶JVl 1 0 0 9JlYl 1 5 0 ¶Jl’yI

MYmi7 4 0 50 45 6 a 2 7 0 3 6 0

UaJ 4 0 80 60 8 1 0 4 8 0 6 0 0

8 5 0 1 1 1 0

P250”/15”1 = IPA’ 1110_ _  =-= 1.306 ?&I 131%
~Pocl’ 850
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2500 2501 2502

Q&l 90 91 q2 PO Clap0 q*/qo 92 1%
Y

Ln"lTi 20 30 30 100 ¶JlM 2,000 IJIVI 30/20 30/20

kliupa 10 20 30 160 1,600 20/10 30/10

%I; 30 40 50 200 6,000 40/30 50/30

w, = qopo = 2,000 ¶JlW

t qopn 9,600 ¶JlM

qop0 1,600 IJlYl- =
w2 = tq,po 9,600 ¶JlW
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1.30 1.87 2.02

a.99 9.03 9.33

1948 1950 1952 1954 1948 1950 1952 1954
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